1. TS009 §2%%45 2 Elastic Thread Stand For TS009




1. TS009 §2%24521 Elastic Thread Stand For TS009

FF 5%
Ref.No.

O ~JON LA~ W

i =)
NN BN — O

YrklmaR

Parts No.
4TS0090101
4TS0090102
4TS0090103
4TS0090104
4TS0090105
90BB1019052
8MNO03200300A
4TS0090108
4TS0090109
4TS0090110
4TSO009A0111
8MB04281207K
8MN04280400A
8ME05321010A

8MMO8501613A
8MMO08502013A

#

Description

fi

FLJE Base
PR Connecting Block

23218 Thread Guide

5 Holder

7 545 Holder
FEERfH7& Ball Bearing

#24% Screw (CTO115 M3-0.5%*3)

g% Spacer

JEHR Roller
JEEHN Base Plate

“Hlm4H Roller Asm.

1844 Screw (CT0239 M4-0.7%12)
%% Screw (CT0229 M4-0.7+4)

18%% Screw (FTC10116 M5-0.8*10)

1245 Screw (C7420308 M8-1.25%16)

18%% Screw (CT0106 M8-1.25%20)

BHE
Amt. Req.



